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Before answering the questzons, candidates should ensure that theg
have been supphed the correct and complete Guestion paper. N%‘-
complain in this regard, will be entertained after examination.

Note : Questwn No. 1 is campulsary Attempt - total
Questions with selecting one question from eac
Unit. All queshons carry equal marks.
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1. (a) What is curve ﬁthng'? What is the need for sueh

anexerc1se? ‘ , ' - 25x8=20

(b) Defme forward dnfferences and backward

dlfferences

'24262-:8,450—(1?-7)(_0-‘9)”(135’ o - PT 0.


http://www.haryanapapers.com

(c) What are direct methods and iterative method to
Solve the system of linear equations?

(@ Discuss initial value problems ahd;B.\f.P's.

(e) What is Crank Nicolson Method” Why is it
known as impliceit method?

)

() ‘What is a d1v1ded d1fference table’ How is 1t |
useful? ‘

(g) Define the terms Interpolation and ExfrapohﬁOn.

(h) What are the Hﬁﬁtétibns of Taylor's series method

for solving ordinary differential equations?
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SECTION-A

2. (a) If u;4x2‘y3‘ /z*and errors in x, y, z be 0.001,
Compute the relative maximum error in u when

x=y=z=1 o - 10

24262- 8,450-(P-7)(Q-9) (13)  (2)
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() Given: a = 9.00 + 0.05,b = 0.035 = 0.0002, --

¢ =-15300 + 100, d= 62000 + 500. Find the
‘maximum value of absolute error in (i) a+b+c+d

‘(i) atbed. | S 10

3. (a)‘ Determine: f(x) as a polynomial in x for 'the .

following data:- o ’ o 10
x: 4 1 0 2 5

fx): 1245 33 5 9 1335 °

by using Divided Diff. Table. Hence e\'raluate'f(l).yv

(b) Find the natural cubic spline to Fit the dzifa 10

x ¢ 1 2 3 4
y: 0 1 ‘ 0 0
~ SECTION-B
- 4. (a) Find f (10) form the following data : . - 10
o x: 3 s om 27 x

Cfx): 13 23 899 17315 35606

'24262- 8,450-(P-7)(Q-9) (13) : (3) P.T.O.
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(b)‘ ‘Evaluate s o 10

f1+x2d?‘»“smg
(@) 'I‘bl'tapcaﬁzoidvalj iu‘le’t‘aking- h =%

" (ii) Simpon's rule ta'ki‘ngv h==

| 5 (a) Fmd a real root of the equahon xlog g X = 1 2 by :
Regula—Fa151 Method correct of four decunal

~ places. " _' N  10”

(b) Usmg Newton-Raphson formula, fmd a root of ’

the equauon xsm(x)+cos(x) O up to three 

| decimalplaces. 10

. 24262- 8.450-(P-7)(Q;9) (13) ’} ( 4)
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SECTIONfC |
.‘ 6 (a) ‘Solﬂvethesystém:‘i - e 10
. 27x;+6yfz=.85_’.
: -6x}15y+22=,72
| x+y+54z=100 |
'by usmg itérgﬁvg I?.l.eﬂlbd.

() Solve the system:

RN
=]

2x+4y+z£3

‘ htt‘p://www;‘haryahapapers.com

3x+2y-2z=-2
;—y+z=6fm 1f.-*

by using Gauss elinﬁnaﬁon'method,, Lo

24262-:6,450.(9-7)(@9)-(13) (5) *:",'_:‘Pf- T.0.
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24

7. (a) Find the largest Eigen value of the matrix, busing

~ power method 10
5 0 1
A={0 -2 0
1 0 5
(b) Detexmme the elgen value and the correspondin'g

eigen vector of the matnx b

y usmg ]acob1s

Method 10°
2 31
3 2 2
1 21
SECT‘ON -D.
8. Using Ruhge—Kutm Method of order 4, find y for

x=04, 02, 03. Given that:
. dy
=Xy + =1
ot d v, y()
Continue the solution

24262 8,450—(P-7)(d—9) a3 (6)

20

4t x = 0.4 using Milne's Method.
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9. Solve the elhphc equahon u.+u,

—()ﬁor the

1000

12000 -

]

1000

followmg square mess with boundary values as
shown : ” ‘
0 50 - 1000
1000
2000
1000
0 500
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